NERKRDBEBIF]RT — 2 N—XBISY —F

2013558198 (B) SEMAEA4H

IGRC2—3# C2 #5%R4mt

‘ (%] ‘ (sl — | 4 (@) 14000 KB

[A~&£] 17 :100,000 @ ~ 23&:23,000 W  33#&:9,000H

4 7% :5,000 @ ~ 57&:3,000F

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. Bewh :30. -1-1- . — ABFHR (£H)
1B 3 gy—>kbv k 4 4 ] 1&))5 1-1-1-1 | 39.2 1 <4+777) i "
R8T BUNFARTSA b RIS
. = o [iim}2 :30. 52— . - REM (£8)
2 9 x4aHLTS54 R 4 e 1(310)7 5-5-2-2 |38.3 2 (4_810) E%&% g8
R:T7RVIT BREHLTHTI— HREMT Y K5y T - Tr—L
N &4 :31. -10-8- . — TIERE (EE)
s o | FLTVTIV— L o4 ¥¢53.0 ! (32])] 10-10-8-4 1 37.9 ° (5_033) :HEEE -
LBATATv— BALUINTEAX () HEI-RL—-2a>AET 7
. i 5 S 1:31.2 6-6-5-3 |38.5| — 4 450 | LUEZEAN (EH)
sl 6| TINTAY 54.0 (7€) (-q) |BFES
R:ZXFr> B:IZRMYT-F AT
TN . EHHIEE :31. -9-9- . — FIEE (£8)
sl7lg| 2TULT27> - A A ! 3630) WEAE
L:¥vsO-Liv B XTYLTRxyF ¥ BARR
N SR it 4 | WTHRE 1:32.3 2-2-3-5 |40.3| — 9 | 412 |LIbERE (EE)
6lgl10l SAI KK/ 54.0 @ (—19) | BAE
L:vNWHEAV R B:LTY=TzXb BR RSB
. sz 4 5 | AER—E 1:32.4 8-7-7-8 [39.5| — 8 488 | HEE (£8)
71717 JIVET77 >3 56.0 (1/2) (+4) HPRER
:yQ7% B:Yrvh J—=HrTr—L
= ) B 4 | BBERE 1:32.5 4-4-6-6 | 40.1| — 6 482 | RBTIE (1ER)
8l1l1|777>7TURL 54.0 1/2) 4y | @) o5
LA hk—L B:d—NWNFrTr—Fa—> HO%%
52 . 4 7 | BEFA— 1:32.8 7-8-10-10 | 39.7 | — - 502 | KBEK (1£5)
955 R——2T2 R ¥¢53.0 (11/2) +2) MARESHR
RTITRATFIZI B:214%KR-3F A i BN
= o, dh o # o4 | AllER 1:33.0 3-3-4-9 |40.7| — 3 454 | HENEE (EH)
10 4|\ 779> h8-L 56.0 ) -2) (;) 75"}%
R:VZRE—IZ2E— B:UFVRTYZR BHRE EHHS
® 1—F—@EBIERL
1T=7r= 3,10,4,1,9,6,5,7,8,2
2a=5F= 3,10,4,1,9,6,7,5,8,2
Ja=5= 3,9,10,4,6,1,7,2,8,5
40—F— 3,9,6,2,10,1,8,7,4,5
[ N5
B 3 1004 714K 3-9 170 e E 3-8 340 JEE 2-3-9 940M
B B 3 110H 28 350M B = 3-9 310 EE 3-9-2 2,300
9 110 2-9 390M B H 3-9 440M
2 220M

ABICOVWTRDTEEERROODE. TR LIV,




